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Chain Production
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Preparation gsmzises)

« 4 people per group =4 A5—#)

+ After instructions, each group will
receive @mipri#BREREsS@RA SN T I

+ 1Tape (B#&1Mm@)

+ 1 Color Pencil (w&suz 1) i
» 1 Paper Box (#=1 @)
o 24 Slips (4% 24 %) i

No Other Tool Allowed! ! FagmpEmTam

Preparation gesmasosem)

+ 2 people per group =2 A5—#)

 After instructions, each group will
receive @mipri#R=REHS@RA SN T LA

+ 1Tape (B#ma 1@
» 1 Color Pencil (g 1 %)
« 1 Paper Box (%= 1 ) M

o 24 Slips (4% 24 3)
No Other Tool Allowed! ! FagmgmTan)

How to Produce Rings? ¢nfazemz?)

1. Use Color Pencil to Connect the Dots
(IR BB ERIER (—R—F)

Keep Your Table Clean! agsamss:
Draw ONE Slip at a time! sgrammna=:

How to Produce Rings? gnfasEsz?)

2. Tape the Slip into a Ring

(PR BB 1% A A5 20 e SR )

How to Produce Rings? @nfasis#a?)

3. Combine Rings

into Chains
(7% SR B 25 BX SR BR)

Done!! (ER52R!)
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« Each Chain = 15 Ecoins &—msm)
+ Labor and Capital are both costly
(IR ANEAEM L RE)

« 4 rounds: 1 minute each with 30
seconds of discussion beforehand
Gt4EA - SEARE 1 58 - BRI 30 Wit

+ Earnings = Max. in 4 rounds
(% = 4 BaTHBEHHN)

« Each group receives 1 toolkit
(BEERARRIE—E)

Round 1 (5—[EI&)

Produce with 1 (=s@mssisr 1 AgmneE
30 seconds Discussion ga#pasmies 30 #itzs!)

Time's up! Get ready...
(BMIZ) ) BEREEARL.)

7 8
= sts PN
=, P K i
Round 1 (25—E&) Round 1b (nﬁgl‘% =)
R Y + Produce with the other 1 =@=4 1 Agmnm
+ 30 seconds Discussion @repasmsies 30 i)
» Round 1 of 60 seconds begins!
(H—EI& IR 60 HBALA!!)
° il
« Time's up! Get ready...
(BMIB) ! BEBEEAR(.)
« Time's up!! Record results @wmz @mesen)
9 10

Round 1b (Z89MsE—

a)

REEDY

+ Round 1b of 60 seconds begins!
(85 E—E AT 60 PBAAL)

00:28

« Time's up!! Record results @mz mesan)

BRIRRELR

Linked-Rings Factory

EERH =F( ' )

(Production Function)

Round | Tape | Pencil | Labor | Product TFC | Tve | TC
BE | B | e | 5 | aER| & BlE

Total Total

™
&8 | & “
$25 | $15 | $10 | $15 | Wi | miA | miA | mA | U

1 1 0 0 0 40 0 40 | -40 | NA NA NA

Blw|n| =

1 1
1 1
1 1
1 1

Blw|n| =

11

12
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Round 2 (3_[E1H) Round 2 (33_[E1H)

 Produce with 2 =@rssr 2 Aeanm RY
-

30 seconds Discussion ¢apssaiess 30 waiia!)

Round 2 of 60 seconds begins!
(BB 60 MEILA!!)

°
« Time's up! Get ready... 0 0 % ..

(BB BEBEEHERL.)
« Time's up!! Record results @mzn menen)

13 14

Round 2b (384506 A1 5) Round 2b (R845ME _[E1 )
» Produce with the other 2 @54 2 g RY
+ 30 seconds Discussion grimssie 30 watia!) >

Round 2b of 60 seconds begins!
(5B EAFE 60 MR

°
« Time's up! Get ready... 0 0 % ..

(BRI BEREERRL.)

« Time's up!! Record results @mzn menen)

15 16
&= A
FERETH Round 3 (55 =)
Linked-Rings Facto . .
g i * Produce with 3 (who did not do Round 1)
(BRETRE2ME—EE 0T 3 AETRIE)
EERH : =F , f ;
(Production Function) ( ) « 30 seconds Discussion gmepamsie 30 witsa)
Total Total
Round| Tape | Pencil | Labor | Product TFC TVC TC ™ MPL VMPL MCL

BIE 2% e | 50 | AR | & BlE | 2% "
$25|$15 | $10 | $15 | W | mA | miA | mA | #
1 1 0 0 0 40 0 40 | -40 | NA [ NA [ NA

e

1 1 1
1 1 2
1 1 3
1 1 4

slw|n] =

« Time's up! Get ready...
(RMIZ) ! BEREEAR(L.)

17 18
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=t — éf) oot «a)

Round 3 (8= Round 3 (8=

« 2 groups cooperate and produce with 3, RY
but recycle 1 toolkit (color pencil + tape) ~

BmASFER 3 AETRIF - BEEOW—HTEH (VEhE + BFTH)

» 30 seconds Discussion gaeasaiT 30 #afia!) - Round 3 of 60 seconds begins!
(B=EAI 60 ML)

00:28

« Time's up! Get ready...

(BMZ) | BEBEERGLLL.) « Time's up!! Record results mz msnen)
19 20
£ P
s e T Round 4 (EE.':P—TI@ =)

Linked-Rings Facto 5
J v « Produce with 4 =@k 4 A

HERE = F( ) ) » 30 seconds Discussion @z 30 i)
(Production Function)
Total Total
Round| Tape |Pencil | Labor | Product TFC TVC TC m MPL VMPL MCL

OE (B | w5 |ezE| & |Ec (28| 2 | &
$25[ 815 $10 | $15 | s | A | sk | sk | AU
t{1]o] o] o4 ]| o4 [-40]|N|NA|NA
1 1 1 1
2 1 1 2
3 1 1 3 3 1
APEEER « Time's up! Get ready...
(BREE B EREFFMML..)
21 22
= AN
CYUWENS FERETR
Linked-Rings Factory
A Y
R
EERY = F( , )
(Production Function)
L] 1 I otal otal
Round 4 Of 60 Seconds beglns° Round | Tape | Pencil | Labor PrToc:ulct o TFCc | Tve | TC ™ MPL | VMPL | MCL
((BMEIARE 60 #2BRgA!!) ma || w5 |0z | & Bz |20 | & | &

$25 | $15 | 810 | $15 | i | mok | mk | sk | A0

1 1 0 0 0 40 0 40 | -40 | NA NA NA
® 1 1
® 1 1

1 1

1 1

« Time's up!! Record results @mz mesan)

Blw|n| =
Blw|n| =

23 24
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Hands-on (50 Ecoins)

—HEENF i

« Chain Production Record Sheet smumans

BIRBRIEI R

Linked-Rings Factory

EERE: Y =F(_K ,_L )
(Production Function) §§ig BEX BE)
. Total Total
£$25 | $1548104 ($15) [\ Uiz A | AL mA/| A |REDREE|RAA
1 1 0 0 0 40 0 40 -40 | NA NA NA
1 1 1 1 3 45 | 40 [ 10 | 50 | -5 3 45 [ 10
2 1 1 2 8 120 | 40 | 20 | 60 | 60 5 75 | 10
3 1 1 3 11 |165| 40 [ 30 | 70 | 95 3 45 | 10
a1 ] 1] a]12]180] 40 | 40 | 8o [(100)] 1 [ 15 ] 10
25 26
Hands-on (50 Ecoins) E e T
—EBFH Linked-Rings Factory
« Chain Production Record Sheet mmussizmisz
+ How would your production strategy CEERH: Y =F(_K L )
change if wage increases to $20? (Production Function) 3% L L
(MBTHE L 2 B2 $20 - BMTRSRMAEERIR? AHE?)
Round| Tape | Pencil | Labor | Product TFC TVC TC ™ MPL VMPL MCL
BE (B |t | B0 | BER| A EE | 28 “ m  (5E)E|5E)B|5EE
$25 815 g0 | 815 | W | mik | mk | miok | A | BRE |
1 1 T7T0T O 0 40 0 40 -40 | NA NA NA
1 1 1 1 3 45| 40| 10 | 50 | -5 3 45 | 10
2 1 1 2 8 120 40 | 20 | 60 | 60 5 75 | 10
3 1 1 3 11 [165| 40| 30 | 70 | 95 3 45 | 10
411 1 4 12 (180 | 40 || 40 | 80 | 100 1 15 | 10
27 28
SRIRBUE TR =
x Linked-Rings Factor 5275
Hands-on (50 Ecoins) o
—EENF (Production Fun | |
« Chain Production Record Sheet smusizns
+ How would your production strategy ; =
. . 15 Labor
change if wage increases to $20? T Ds=
(GNBETE LR 2 f2 ek $20 - BMANSRMLEERI? AHHE?) : = N
+ Production Function (L vs. K) 5 o| o [Hl na 7
LEABE (57 vs. BER) H
. 1 3 H 3 e
0
2 —
8 Il S i
3 11 3 5
4 | 12 1 biminisiﬁng Marginal
Returns gsmsmgmzaf o

29

30
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! GO per o phs

Q=f(L,C)

Hands-on (50 Ecoins)

—HEENF i

Chain Production Record Sheet smusizins
How would your production strategy
change if wage increases to $20?
(MRTH LR 2 E2A 520 - RONARSRBNLEERIE? BHE?)
Production Function (L vs. K)

EXYE (57 vs. #ER)
Cost Functions (FC, VC, TC)
AR (BRME « SRS - BHF)

31

32

SRRETR

Linked-Rings Factory

B. AE

100

90

Hands-on (50 Ecoins)

—HEENF i

TFC | Tve [ TC
BE | 28 | &
A

40 0 40

40 | 10 | 50

40 | 20 | 60

80

70

60

50

40

30

20

40 | 30 | 70

40 | 40 | 80

Chain Production Record Sheet simzsamn=
How would your production strategy
change if wage increases to $20?
(NRTH L 2 B2 $20 - BMTRSRMEERR? BiHE?)
Production Function (L vs. K)

LEARYE (B vs. RES)

Cost Functions (FC, VC, TC)

AR (BEME - BBRE - EHE)

How is Production related to Cost?

(0 R B 1 A 2 RS £ R )

34

A EERHE

BES
15

0 1x10 2x10 3x10 4x10
5

0 10 20 30 40
VC (2 &R )

B. AKE

Hands-on (50 Ecoins)

—EE T

Chain Production Record Sheet smusszs=
How would your production strategy
change if wage increases to $20?

(MRTH LT 2 @R $20 - RIARBRPNEERIE? BHE?)

Production Function (L vs. K)
ERYE (37 vs. BES)

Cost Functions (FC, VC, TC)
AR (BERE - BBRE - @HE)

How is Production related to Cost?
(EERY R AR 2 A H B %?)

Exten5|ons7 Staples MPL, AC MC (Lﬂﬂﬁlﬁf}a
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